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1..  Which one of the following graphs sfiows the changes in the breathing
rate of Sally when she ran up the stairs?
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Study the table below. It shows the properties of 3 objects, X, Y and Z.

Property Object X Object Y Object Z

Can be compressed No No No

Has a fixed shape Yes Yes No

Can float on water Yes No Yes
Which of the following can be X, Y and 2?7

X '! Y F4

(1) Leaf Stone Paper bag
(2) Plastic cup Coin Air
(3) Ice Marble Oil
4) . Plastic bag Styrofoam plate On. -

A stalk of celery was placed in water, which was coloured with regd ink.
The next day, the stalk was removed and cut across at MN as shown in

the diagram below.

-Which one of the following shows the cross-section that would be

observed at MN?

3)
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Which of the following are functions of roots?

A: Roots make food for the plant.

B: Roots hold the plant firmly to the soil.

C: Roots take in carbon dioxide from the water

D: Roois take in water and nutrients from the soil

(1) A and C only
(2) 8 and D only
(3) A, B and D only
(4) A,.C and D only

The hairs in the nose trap

respiratory passage.

. {1) dust

(2) waste gases
(3) impure blood
(4) unwanted food

Study ih_e d:agram below.

What types of blood vessels are A, B and C?

from the air in the

Arteries Veins Capillaries
) A B C
(2) B C A
- (3) G A B
(4) C B A
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7.

8.

Which one of the following is not a source of energy?

(1) Food

* (2) Wood
(3) Shadow
(4) Fossil fuel

Diagram A below shows two identical balloons filled with the same amount
of air. The balloors are tied with a string to a balance. One of the bailoons
in Diagram A is then removed from the balance. Some air is released from
the balloon and placed back onto the balance at the same position, as
shown in Diagram B. Co

Diagram A Diagram B

What can you conclude from the experiment?

(1) Air has mass.

(2) Air can be compressed.

(3) The baliloons have different mass.
(4) The air in the balloons has no mass.
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10.

The diagram below shows a cube of ice melting.

As the ice melts, there is a change in

A state

B: shape

C: volume '
{1) A only.
(2) A and B only.
(3) A and C only.

"(4)A,BandC

The diagram below shows an iceberg out at sea.

Which of the following states of water can be seen in the picture above?

A: Sofid
B: Liquid
C: Gas

(1) A and B only
{2) A and C only
(3) B and C only
{4)A.BandC
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11.

12.

Which of the following are possible effects of water pollution?

A: The number of marine animals increases.

B: Marine animals consume taxic waste and die. .

C: Marine animals get entangled in the litter thrown in water and die.
D: Aquatic plants submerged in the water do not get enough sunlight. .

(1) A, B and D only
(2) A, C and D only
(3) B, C'and D only
(4)A,B,Cand D

The table below shows the differences between inhated air and exhaled

air,

Which one of the following correcﬂy shows the difference between inhaled

air and exhaled air?
inhaled air ) Exhaled air
(1) | Contains more oxygen Contains Jess oxygen
(2) | Contains more nitrogen Contains less nitrogen
(3) | Contains more water vapour | Contains less water vapour
(4) Contains more carbon dioxide | Contains less carbon dioxde
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13..

14.

Which one of the foliowing graphs best shows the oxygen levelin the air
at a forest over a period of time?
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Jenny placed a white\camaﬁm in a beaker of water. She accidentally
spilled a few drops of black Ink into the beaker of water.
The next day, she was surprised to observe that some parts of the petals

of the camation flower had tumed from white to black. What does her
observation show?

(1) Water from the fiower is fost 1o the suroundings.
(2) The stem canies water from the flower 1o the roots.
(3) The stem camies food from the roots to the flower.
(4) The stem carries water from the roots to the flower.
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15.

16.

17.

Which one of the following is not true of the plant ransport system? -

(1) The plant transpaort system is made up of two networks of tubes.

(2) One set of the tubes carries food from the leaves to the rest of the
plant.

(3) One set of tubes carries water and minerals from the roots to the rest
of the plant.

{4) The plant fransport system ransports oxygen and carbon dioxide
throughout the plant.

What can we say about our heart?

A: lis amuscularorgan " .
B: [Itis protected by the ribcage,
C: Htis found to the right of our chest.
D: 1t pumps blood through blood vessels to all parts of the
. body. o
(1) A, Band G only

(2)A, BandDonly
(3) A, C and D oniy
(4) B, C and D only

The heart pumps blood to all parts of our body by

(1) closing the valves in the veins

(2) opening the valves in the veins

{3) moving up and down the ribcage
(4) contracting and refaxing its muscles
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18.

19.

Which of the following structures in plants is similar to the blood vesseils in -
the human circulatory system?

(1) Stem

(2) Leaves and stomata

(3) Roots and root hairs

(4) Food-carrying tubes and water-carrying tubes

The graph below shows the pulse rate of a boy over a period of time.

B Cc

Puolse rate /

-
>

Time / mins
Which part of the graph shows that the boy has just stopped playing
basketball?
(HA
(2)B
(3)C
4)D
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Which of the following statements explain why the sun is an important
source of energy for living things on earth?

A: Energy from the sun keeps al living things warm.
B: Without energy from the sun, green plants cannot make food.

C: Energy from the sun enables animals to see things around
them.

(1) A only

(2) A and B only
(3) B and C only
4)A,BandC

10
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Write your answers to question 21 to 36.

The number of marks available is shown in brackets { } at the end of each
question or part question.

21.  Some seawater is being heated in the following set-up.

icepack
seawager —
heat

{3) Name the processes that are taking place at P and Q. a 11

P: -

]

Q: . -

(b) What s the function of the ice pack? , (11

Score

11
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22.  van camried out an experiment to find out if the size of the container
affects the buming time of the candle.
He chose 2 similar candles and placed them in 2 different containers as
shown in the diagram below. '

The time taken for each flame to go off was recorded in the table below.

Candle Buming Time (in seconds)
A L 14
B - . N 26

a) Tick (V) the variables that werse kept the same in order to carry out a fair

test. _ 1}
Variables i Kept the same
Size of container
Size of candie
Type cf candle
b) What could lvan conclude from the pésulls obtained? 2]
Score
12
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23.  Look at the diagram below. '
A balloon is pushed into a plastic bottle and the opened end is stretched
over the mouth of the bottle.

open end of
the balioon —“‘“’1 =
balloon o ' ' \
‘plastic bottle

Joanne tried to blow to inflate the balioon in this set up but she failed.

(a) Suggest a method for Joanne to blow to inﬁate the balloon without
taking it out of the botle. _ B &

{b) What does the experiment teli us about the property of airz [1})

+

Score

13



24.  Peter sels up the experiment as shown below.

balsam plant

N ¢
ol 2,
——water—— E—:—-j
‘test p :"‘:":
‘tube’ Nl
Container P Container Q

The roots of the balsam plant are washed an4 then placed in Container P.
A similar Gontainer Q, is set up without the plant. The amount of water'is
kept the same for both containers. A layer of oil covers the surface of the

water in each container.

@) Aﬂe_;.rfa few days, what will happen to the water level in {ire two

containeis?

(b) Whny does Pater need to put oil into the containers?

(c) What does the expetiment show?

14

Score

112




25.

26.

Filt in the blood vessels that carry out the activities descnbed in the table -
below.

(3

Blood vessels

Activities

Nutrients, digested food and oxygen
pass through the very thin wall of this
blood vessel.

Blood with leés oicygen is carried back
to the heart through this blood vessel.

Blood rich in oxygen is transported
away from the heart to other parts of
the body.

Put 2 "1~ for statements that are true and an “F for statemems that are

false.

2

(a)

Both the plant and Fuman transport’
systems perfoim the funct»on of
trarsporting materials. :

| Botti thé Plant and tumait transport” -
systems do noluse any organ to pump
materials through the system.

(c)

The plant transport system has 2 sets of
tubes to transport materials.

(d)..

The plant transport system transports
oxygen, digested food, carbon dioxide

and waler.

Score

15
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27. Inthe diagram below, water drips into the beaker at a vefy slow rate.

T ' beoket A
{a) Give a reason why the water drips into the flask so Siwly. 1}

i_h,

(b) if the stopper is loosened, what will happen to the rate of the dip? [1])

Score

16
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28. A measunng cylinder was packed with pebbles to the 50. cm® mark.
50 cm’® of water was added but the water lavel did not reach the 100 cm®
mark.

200 cm®
150 om®
o0 om?

50 on® By o

Expiain why the water level did not reach the 100 cipmark. | 2

17
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29, Study the set-ups below carefully.

......................

B
Volume of water = 260ml  Volume of water = 250mi  Volume of water = 250ml  Volume of water = 350ml
Temperature = 25 °C Temperature = 25 °C Temperature = 35 °C Temperature = 35 °C

(a) Which two set-ups should be used 1o find out if temperature affects
the rate of evaporation of water? {1

(b) State the conditions that must be kept the same or changed in order to

carry out a fair test. 74
- Conditions
Keep the same
]
;
Change
Score
3
18
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30. A group of pupils set up an experiment as shown in the duagram below to
find out whose lungs can hold the most air.

2000 cm® plastic
bottie

ptastic tube >

——— water

The pupils took tums to take a deep breath and blow as much as he or
she could into the plastic tube. The graph below shows the results they

obtained.
. 2000 -
Ambunt of
waterleft in @ 1500
the plastic

bottle (cm°) 1000

500

TTTT VI TTIT[ITToT

]

Teng Zachary Lyﬁn Wing
Siong Shan

Answer the following questions based on the graph.

(a) How much air can Zachary’s lungs hold? m

(b) Whose turGd can hotd the most air? 11

Score

117



31.  The diagram below shows the stem and roots of a planf’-

soil

(a) Why do the roots grow downwards into the soil? _ (1]

(b) Where do the roots get the energy 1o grow? ~ }1]

Seore

20
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32. Look at the diagram of a plant below.

(3)» Can the branches and leaves continue to grow if theolant is
chopped a 4]

L

(b) Give a reason for your answer in (a), 2

Score

21
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33.  The diagram below shows the circulation of blood in our body.

Lungs

Heart

All parts of the body

(a) Whicharrows (A, B, C or D) indicate blood rich in oxygen?- -2

(b) How many tinfes does blood pass through the heart during one complete
circulation round the body? 1

Score

22
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The table below shows the breathing rates of different people when they

are resting. .
People Breathing rate
(number of breaths per minute)
Babies 27.t0 35
Teenagers 21to 25
Adults 18to 20
Seﬁior Citizens 1610 17

R questions. -

_ (a) How does the breathing rate vary according to age?

'".-* Use the information given in the table above to answer the foliowing

]

(b) Tom,-a*14:year-old bay, checked his breathing rate one day while he
was resting. What would his breathing rate be? -

)

- (c) After playing baskétball with his friends, Tom checked his breathing
rate again. He found that his breathing rate wag/30 breaths per minute.

Why was his breathing rate higher?

[

23

| =
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35. Put a “T for statements that are trué and an “F~ for statéments that ére

false.

{2

(a)

Heat and light are forms of energy.

{b)

Heat energy is needed by green plants to
make food. '

(©)

Energy is needed to make things move or
work.

=

(d) | Energy is needed by living things to camy out
life processes.
36. State the function of &ach of the following systems. 2}
(a) Circutatory system : -
(b) Respiratory system: _
[}
Score

END OF PAPER

24
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Evaporation.
: ensation,

c)T a)F

7Ya)The air in the beaker takes up
Space and it cannot escape.
b)The rate of the drip will become
faster because the air in the beaker can escape to make
room for the water. - 123



28) There was tiny air spaces between the pebbles for

breaths.
b)His
breaths pe
c)During
Tom needs to
quickly.

35Ya)T b)F
36)a)It is to transport digested food, oxygen and

nutrients around the body and collect waste material
and carbon dioxide.

b) It takes in oxygen and give out carbon dioxide.
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